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T -1/ PART -1

[3]

[A]

91 fa 9 [3Ensme/CHILD DEVELOPMENT AND PEDAGOGY
3% : =it goal & Gav 37 & [ qae afEd ey g

Direction : Answer the following questions by selecting the most appropriate option.

1.

frfafeg § § S9-91 SUHE & S
T 78§ 7

(1) uRfw feemy g

(2) T srae

3) ‘RE 4 B’ a1y

@) FRE sg/ed oy

F T e TR TR 71 e § 7
(1) 209 25 2) 209 9=
(3) 259 36 4) 369 51

frefafe & @ @A fae
AEINTIGRTT &l TpT & o 78
T B 7

(1) 9MvT% &9 8 9999 QX dh &
FAER Bl WG

(2) gEioTs ®1 & |G e @
HET

(3) |HISTS AT & foehr

(4) MBS FIER

g% M ThH THR S FEROCE b,
TIAe, IO 3 B UM S ®,
e & ?

(1) Tierhl i
2) i+ s

(3) dfpeh-TMT i
(4) &0 g

Level-2/4212

1.

2.

Out of the following which is not the
other name of childhood ?

(1) Elementary school age

(2) Smart age

(3) Pre-gang age

(4) Gang age

What is the approximate 1.Q. range of
'‘Mangolism' mentally retarded children ?

(1) 20to 25 (2) below 20

(3) 25to 36 (4) 36to 51

Out of the following alternative which
does not come under processes in
socialization ?

€]

learning to behave in
approved ways

socially

2

playing approved social roles

3)
“)

development of social attitudes

egocentric behaviour

A type of intelligence which is mostly
visible in dancers, athletes, surgeons
etc., is known as what ?

(1) Bodily-kinesthetic intelligence
(2) Spatial intelligence
(3) Logical-mathematical intelligence

(4) Musical intelligence

P.T.O.



[A]

frr & @ @9-a1 daos g ® a«
7 &

(1) Jerft arvean

(2) STTH-SARMIRET

(3) Wl
(4) G I GeEIed BT

U el g ® B} SN W §s =
S99, A, 9%, JgeT S & SR
W 0% T 9= e & HEed 9y |
5 TR & S B T FeT S 8 7
(1) HarTees diET

(2) ey g

(3) TEHEHHS e

(4) eI HiET

e & @ $i9-a1 a6fes e
g wheT 78 B ?

(1) et der aderr

(2) STt STEHl TETT

(3) fareern e

@) [\ MR A

SIThISR & s & offan FEq
A Ra g & fFa aRRafos d=
% &I & ?
(1) HrEshIa=
(2) Hhra=
(3) "=
(4) T

Fled & ogER A e @ @
T ofaen EH PR @R oot
A # aaHM H safad @it
qevSl afeEr et @ e &7
H Sfeehar @ BTG STaRT T T B 7
(1) A F JF TR &

(2) Afcerdr F TEREET &

(3) Aferpa F U TEREE &Y

(4) Sfywar # W /WREG &R

Level-2/4212

[4]

Which of the following is not an
element of emotional intelligence ?

(1) Entrepreneurial competence
(2) Self-motivation

(3) Empathy

(4) Handling relationships

A student learns new concepts such as
'Carnivorous animal' on the basis of
words known by him such as tiger, dog,
lion, leopard etc. This type of learning
is known as what ?

(1) Combinational learning

(2) Subordinate learning

(3) Correlative learning

(4) Superordinate learning

Out of the following which is not the
type of group non-verbal intelligence
test ?

(1) Army Beta test

(2) Army Alpha test

(3) Chicago test

(4) Revence progressive matrices

According to Bronfrenbrener, law and
customs are examples of which of the
following ecological system of child ?
(1) Micro system

(2) Macro system

(3) Meso system

(4) Exo system

According to Kohlberg "a stage of

moral development during which
individuals judge morality largely in
terms of existing social norms or rules"
is known as which level of morality ?
(1) preconventional level of morality
(2) conventional level of morality

(3) postconventional level of morality

(4) unconventional level of morality



10.

11.

12.

13.

14.

I U B BROT TG B -
(1) RS I

(2) T

(3) STEA

(4) e =R e

frefafeg & @ @M@ G R
et 7ef & °

(1) Jgesy

() FEies

(3) =&

(4) Gy e

frfofag & @ -1 ey o9 e

N Ve YA EfhAT  TeRr” bl

frQrar i gt & °

(1) S== § ‘GRO-99E g’ T ‘a8
® wWiyE g fer et
BT |

(2) Sh H G % fOEid & owa
HTT, T am &1 e &N

(3) SITh oYY URAST & Hidae @9 §
T ST YT 8 |

(4) e farl & A aew a9m 8§
e B

H-GT SRR HT Gk & & 7

(1) STEaggday  (2) TE<Iayfd

(3) G (4) wicared

AfrdE THES H e fafy ®

(1) e

(2) W&

(3) AT

(4) STeT-FERRe

Level-2/4212

[5]

10.

11.

12.

13.

14.

[A]

Which is not the cause of delinquency ?
(1) Physical defect

(2) Poverty

(3) Failure

(4) Proper home environment

Out of the following which is not
related with 'Cognition' ?

(1) Perception

(2) Thinking

(3) Walking

(4) Concept formation

Out of the following which alternative

shows characteristics of "Concrete

Operational Stage" given by Jean Piaget ?

(1) Development of idea of 'cause-
effect relationship' and ‘'object
permanence' in children.

(2) The child gains understanding of
principles such as conservation
logical thought emerges.

(3) The child begins to represent the
world symbolically.

(4) Becomes capable of creating
several forms of logical thought.

Which is not the component of
motivation ?

(1) Needs (2) Rote Memory
(3) Drives (4) Incentives

Direct method of personality adjustment
is:

(1) Sublimation

(2) Projection

(3) Regression

(4) Removing of hurdles

P.T.O.



[A]

15.

16.

17.

18.

19.

20.

s faeE & CFEST s
e’ @t fhae awartaa fear ?

() 99 IS (2) d9 aEieeh
(3) Vo THo T (4) Plewsd

‘T gEMSl B QEAdl [ HHRD
T | aRad w0 el 8 7
(1) STHATETT  (2) FHIISEBO
(3) HYHBT  (4) HTEA

N i 3 Homew fawm 3 fg

TS H AT F -

(1) & & % A & ©N oo
RN B

(2) F® I B & ufd 99 a we
foepféra @] |

(3) & o 7 #H WRA B AT |
U9 1 99 T9NH |

4) A B e Bl & ufa e
701 R & |

I SIS T i T & 7

(1) 28 6 a9 (2) 67 12 a9
B) 4377 (4 11¥15a

Tdo Elo 3Eo SRR g % Jadd
B ?

(1) aaﬁi‘l?’l

(2) e

(3) W TG A

@) fwd

g6 g g & U R g=m @
T feRar T ot ?

(1) st AR ewan

(2) TENfEE TS e

(3) ey MR e

(4) T=1 AR S

Level-2/4212

[6]

15.

16.

17.

18.

19.

20.

Who proposed "Sociocultural Theory"
of cognitive development ?

(1) Jean Piaget (2) Lev Vygotsky
(3) J.S.Bruner (4) Kohlberg

"Incorporation of new information into
existing mental frame works" is known
as what ?

(2) Accommodation
(3) Equilibration (4) Organisation

(1) Assimilation

For the emotional development of his
pupil the teacher should :

(1) Try to usurp the place of pupil's

parents.
(2) Develop love and affection for his
pupil.
Take a loveable attitude towards
the mischief of the pupil.

3)

Show favours to few selected

pupils.

“)

What is the age group of late childhood
stage ?

(1) 2to 6 years
(3) 4to 7 years

(2) 6to 12 years
(4) 11to 15 years

Who was the propounder of N. D. L
motivation formula ?

(1) McDougall

(2) Hilgard

(3) Blair and Jones

(4) Maslow

Which word was used by Thurstone for
intelligence' ?

(1) Primary Mental Abilities

(2) Universal Mental Abilities

(3) Neutral Mental Abilities

(4) Higher Mental Abilities



21.

22,

23.

24.

25.

frfafag & § @98 Tafafveas @
femdt & welEcE/AedRe T B
S 78 T S " ?

(1) g R

(2) sAfrgfT T g

(3) GO IS

(4) TreTEE faw

T B B 1 I 1 1 T B 51 e
fros BT @ TR 7

(1) e (2) FHed

(3) UEETErel 4) <

“grTh B JE GEE 6 IR 9 fRAl o
d, @ off SHH @ # [T el SEem”
IR B T THR B TIH B T Bel
ST 8 7

(1) fT gea

2) T Reran

(3) T Graar

4) T wiessd

feell & e * T GEM @
e [h8 T H Tedish FHoal © ¢
(1) |aq e

(2) I g

(3) STE (1) TG (2) Il

(4) U (1) T (2) & &

Fret & @ Si9-d e g 78 8 7
(1) dEe=

(2) g

(3) N ==

(4) el

Level-2/4212
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21.

22,

23.

24,

25.

[A]

Out of the following which activity/area
may not be considered as co-scholastic
aspect of learner ?

(1) Social skill

(2) Attitude and values
(3) Creative skill

(4) Curricular subjects

The first psychological laboratory was
established by whom ?

(1) Galton (2) Cattell
(3) Pestalozzi (4) Wundt

"Children's understanding that their
gender will not change even if they
adopt the behaviour, dress, or hairstyles
of the other gender". This type of
children's understanding is known as
what ?

(1) Gender identity

(2) Gender stability

(3) Gender consistency

(4) Gender stereotypes

Assessment of all-round development

of the child's personality is known as
which type of evaluation ?

(1) Continuous evaluation

(2) Comprehensive evaluation
(3) Above (1) and (2) both
(4) Neither (1) nor (2) above

Which of the following is not a defence
mechanism ?

(1) Identification
(2) Compensation
(3) Rationalisation

(4) Association

P.T.O.



[A]

26.

27.

28.

29.

30.

‘Sfc | fF@ & M & 9% AR |
ST & SN e foepreTe orawen @l
fQwar & ?

(1) G- STaeen

(2) U4 Gk ST

(3) o HRkAHE e

(4) SNveniie dGfpares Srawe

M 1 98 VR o foEmi § ©
SRR G HerEr § Y fEw A
g FEH @ SGFd g dE @S
YT &, B P Fed € ¢

(1) TEH GE

(2) refgel e

(3) eAfmree Hies

(4) YT HE

frfafed & @ #9-1 3R a0 9ed
o &Y o= 1 3 X & 7
(1) HEeiEs GorleHe

(2) IUIEH GoITcHD

(3) ARG gD

(4) STfashrll GoTeHen

frfafag & @-ar FeReen & o

T 78§ 7

(1) FreEmEe e NeEen & &9 &
RIREIR]

(2) TS STae

(3) ¥, q9E AT [T @ oTaw

(4) T orae

B HEN @ Qe ®
(1) Hessiaan

(2) STAGE™E § FH

(3) HameH SARerRar

(4) A et

[8]

26.

27.

28.

29.

30.

'Out of sight out of mind is
characteristic of which of the following
developmental stage ?

(1) Sensory-motor stage

(2) Pre operational stage

(3) Concrete operational stage
(4) Formal operational stage

A type of learning in which students try
to learn by emerging new rule through
given learning material, is known as
what ?

(1) Rote learning
(2) Meaningful learning
(3) Reception learning

(4) Discovery learning

Out of the following which is fourth
level of Taylor's level theory of
creativity ?

(1) Expressive creativity
(2) Productive creativity
(3) Innovative creativity

(4) Inventive creativity

Out of the following which is not the
other name of Adolescence ?

(1) Transitional period of childhood
and adulthood

Problem age
Stage of stress, strain and storm
Smart age

2)
3)
“)

Characteristic of good adjustment is :
(1) Tolerance

(2) Lack of confidence

(3) Emotional unstability

(4) Irregular life habit

Level-2/4212
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[9]

[A]

A1 (R=T @ 3fISH) / LANGUAGES (HINDI & ENGLISH)

[ =<t/ HINDI ]

31 : =it goal & Gav 37 & [ qae afEd ey g

31.

32.

33.

AT B G O T B - I
HRE B ISR 8 7

(1) FHBH
(2) Gd9 FRD
(3) EYEN FHRb

(4) SAYHT FH

it gie § AYS fGehed JHm
(1) o

(2) SfeTasm

(3) geargarE
(4) JIW

Syt gfte § oyl fec
gifey :

(1) ForeT-Foe

(2) dR-AARA

(3) didi-afe

(4) a9i-uIes

Level-2/4212

34.

35.

36.

37.

Tg & 3T | ST [9eed Jaisy ¢

(1) AR + 39 = faameia
(2) 3 +TA = TA

(3) T + T =T

(4) TH® +T = aHI®D

= 4 § 59 fAew § ‘9 9= @
faQroei s foher T & °

(1) ™ & ‘@ @ = |
(2) S IEF ‘FH G G |
(3) ‘@ & 9 U % |

4) ‘T AT & I T

fra faees § g8 9 # SIE T8
g7
(1) qeamed

(2) FTA
(3) BERET

(4) SfErargre

o @t 3fte & 39w @ Bifex -
(1) -3

(2) TSI

(3) Ufessh-Jfrard

(4) TG

P.T.O.



[A]

38.

39.

40.

41.

fpe fhcq d ‘o IUET @ TENT g
g7

(1) SAraf~ieh
(2) afereA
(3) AT
(4) ST

o amm & ‘omem’ (faemed) afq @
SERT g © 7

(1) g9 oFR Fea a § T T &< |

(2) 99 B SN H AEGT @A
MRy |

(3) Tl & =Ry {6 98 ¥ * T
i B T R

(4) ¥ arear § f6 g W 6 )
Qe % gfte @ o e gig
(1) el — S, fas, TR

(2) S - FTH, U, R

(3) a8 — A=A, AW, HH

(4) RO — L, @, q
‘Areared’ drell foehed g

(1) A R el G TR |

(2) THS § A9 Tewn o 2

(3) ARG &R 91 9IS BT T |
(4) Heel I ITH AT

[10]

42,

43.

44,

45.

fore a@ # ‘FaRT @ SRR gaT © °

(1) T IR 99 AR @ @9 © 2|

(2) FHaar ot Rl s W@ R

(3) TH A &Y A & B |

@) T 90 g & N SEs ewd q
3 T

fpe famea # fowrt @fr @1 @ 7@
ger & ?
(1) foeg=
2) Rrer
(3) draEd

(4) 9g

‘THe | IR Y g - a9 § UgE
fopaT-fager @1 9% 3F@ Ff -

(1) YRETErES

(2) HIArED

(3) ifcrares

(4) A=

Thae § Sgaed o9 fohedl H ST
g
(1) S St

(2) ag-agy
(3) TG-St
ORI SIE

Level-2/4212
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[A]

[ 37350 / ENGLISH ]

Direction : Answer the following questions by selecting the most appropriate option.

46.

47.

48.

49.

50.

Choose the correct synonym for the
word given below :

Gallant
(2) Impolite
(4) Fearful

(1) Valiant
(3) Rude

Choose the correct modal.

Some people .............. ski better than
others.

(1) must (2) can

(3) could (4) should

Fill in the blank with appropriate
preposition.

Ipaid thebill .............. cash.
(1) in (2) at
(3) for (4) with

Choose the correct word for the sentence.
A man who 1s womanish in his habits.

(1) Arsonist

(2) Epicure

(3) Effeminate

(4) Fealty

Choose the correct antonym for the

word given below :
Bankrupt

(1) Penniless

(2) Insolvent

(3) Ruined

(4) Solvent

Level-2/4212

51.

52.

Fill in the blank with the correct
option :

doing the cooking, I look
after the garden.

(1) Beside
(2) However
(3) Besides

(4) Therefore

Choose the most appropriate form of

Indirect speech for the given sentence.

The teacher said to Hari, "Why did you

not do your homework yesterday" ?

(1) The teacher asked Hari why had he

not done his homework the

previous day ?

(2) The teacher asked Hari why he had

not done his homework the

previous day ?

(3) The teacher said to Hari why had
he not done their homework the

previous day ?

(4) The teacher said Hari that he had

not done his homework the

previous day.

P.T.O.



[A]

53.

54.

55.

56.

Choose the correct passive construction
for the sentence given.

We visited the zoo of Jaipur on last
Sunday.

ey

Zoo of Jaipur were visited by us on
last Sunday.

(2) On last Sunday the zoo of Jaipur

was visited by us.

3)

We were visited the zoo of Jaipur
on last Sunday.

C))

Zoo of Jaipur was being visited on
Sunday last by us.

Cooking is his hobby.

The underlined word is used as a :
(1) Verb

(2) Gerund

(3) Participle

(4) Infinitive

Choose the correct determiner.

................ knowledge is a dangerous

thing
(1) The little (2) Little
(3) Alittle (4) The few

Choose the correct preposition.

I had not slept or eaten anything

properly ................ two days.
(1) since (2) from
3) in 4) for

[12]

57.

58.

59.

60.

Fill in the blank by choosing the correct
option.

The Headmaster and the Secretary
................ present in the meeting.
(1) was (2) were

(3) was being (4) were being

Choose the correct form of verb.

Did you not ................ about the
world Atlas.

(1) knew (2) known

(3) know (4) knows

Choose the correct option for the

underline word.

Our parents have raised us to be a good

citizen.

(1) Brought up

(2) Brought by

(3) Brought out

(4) Brought down

Choose the word which 1is spelt
correctly.

(1) Commited

(2) Committed

(3) Comitteed

(4) Committeed

Level-2/4212
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[A]

HET -1/ PART -1l
Y AT/ GENERAL STUDIES

[ A ARG, dliche SARTEHCT R | 5T Td 1RSI / QUANTITATIVE
APTITUDE, REASONING ABILITY AND G.K. & AWARENESS ]
& : [t gea & gav &7 & frg qaw o [AEe g

Direction : Answer the following questions by selecting the most appropriate option.

61.

62.

63.

64.

65.

=T e &l g Y

WE, SG, PJ, LN, IS, ?
(2) FX
4) EX

1) FZ
(3) EY

(G e = A 1 e ol | < G L

DHL, PTX, BFJ, .....
(1) CGK (2) KOS
(3) NRV (4) OVZ

Qzﬁmaﬁaﬂms,soo%,qhq@ﬁ
9 @9 20% gw g, AR a9 Ied
25% gi& g, d & 99 a1
SEeE fhel Rl ?

(1) 10,950 (2) 12,750

(3) 11,950 (4) 12,550

18,000 1 W 2 ¥ % 10% daAM® &<
¥ Tpghe T 9 |IERET S H SR
BT ?
(1) 150 &9
(3) 210 &)

(2) 180 BT
4) 316 W

14,500 &9 HERO 9 W 6 a9 #
21,460 9 B I &, TN B s X
B ?
(1) 4%
(3) 6%

2) 10%
4) 8%

Level-2/4212

61.

62.

63.

64.

65.

Complete the following Series :
WE, SG, PJ, LN, IS, ?
(2) FX
4) EX

1) FZ
(3) EY

Find the next term of the following

letter series :

DHL, PTX, BFJ, .....
(1) CGK (2) KOS
(3) NRV (4) OVZ

The population of a town is 8,500. In
first year it was increased by 20% and
in second year again increased by 25%,
then what is the total population after
two years ?

(1) 10,950 (2) 12,750
(3) 11,950 4) 12,550
What 1s the difference between

Compound interest and Simple interest
on the amount of Rs. 18,000 in 2 years
with the rate of 10% per year ?
(1) Rs. 150 (2) Rs. 180

(3) Rs. 210 (4) Rs. 316

The total amount of Rs. 14,500 with
simple interest in 6 years is Rs. 21,460,
find out the Rate of interest per
annum ?
1) 4%
3) 6%

(2) 10%
4) 8%

P.T.O.



[A]

66.

67.

68.

69.

70.

71.

Th PIeeR @ @l T AT 20
He, 21ﬁaw29rﬁa§m§w@aw
15 593 Ufgert Hiex #f & d Bad e
H G F BT ?

(1) 2,100 59
(3) 3,150 59

% fhebe A9 H, 6 Raanieal & ofd ™
e 36 dt) A} T @ ue Rawer A
16 ¥ T9T &, @ 99 Reenisd @
Ad @ g A & ?
(1) 24 (2) 30
(3) 36 4) 40

Rr=if S B O X

24, 60, 120, 210, ?
(2) 270
4) 500

(2) 1,890 T
4) 2,500 5

(1) 336
(3) 512

Th 99 TA1 T PN B AR B AU
6 :7%, 3R FX 4 H T 364 Rl A
g0 T B, A 9 H A A B

(1) 60 fRdEer  (2) 72 fRdieer
(3) 78 fRHEeT  (4) 84 fRHi/Ee
fhdl didfae AT ¥ GRANT &I
UOBSH %F&l 9T, TIME & FNJU @&l
19, @ PRIDE & &1 &al S ?
(1) QSJEF
(3) FEJSQ

(2) OQHCD
(4) TPMED

q deEet & g 3 : 5 ©, ¢ S
B 240 B, SRl & SRR F
3T ?

(1) 60
(3) 120

(2) 100
4) 90

Level-2/4212
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66.

67.

68.

69.

70.

71.

The sides of a triangular farm are 20 m,
21 m and 29 m respectively. How much
will be total expenses for cutting the crop
at the rate of Rs. 15 per square meter ?

(1) Rs.2,100  (2) Rs. 1,890
(3) Rs.3,150  (4) Rs. 2,500

Average runs of 6 players in a cricket
match was 36. If one player made 16
runs, then what is the average runs of
remaining players ?

(1) 24 (2) 30

(3) 36 4) 40

Complete the following series :

24, 60, 120, 210, ?
(2) 270
4) 500

(1) 336
(3) 512

The ratio of speeds, of a Bus and Car is
6 : 7. 1If car covers 364 Km distance in

4 hours, what is the speed of Bus ?
(1) 60 Km/h (2) 72 Km/h
(3) 78 Km/h (4) 84 Km/h

In a code language GRANT is written
as UOBSH, TIME is written as FNJU
how is PRIDE written in that language ?

(1) QSJEF (2) OQHCD
(3) FEJSQ (4) TPMED

The ratio of two numbers are 3 : 5 and
the addition of those numbers is 240,

what 1is the difference of those
numbers ?

(1) 60 (2) 100

3) 120 4) 90



72.

73.

74.

75.

76.

77.

frel | & 60% @ 3/5 AT 36 B, ar
& H A9 F eRm °

(1) 60 (2) 100

(3) 120 4) 150

gi& DRIVER = 12, PEDESTRIAN = 20,
ACCIDENT = 16, @ CAR =?

) 3 2) 6
3) 8 4) 16

A T B e} fpelt @M @ 15 [’ A
T HYd 2, el B aham 3@ 20 &
T g BT 8, A SThal 39 HH &
frw e & @M ®em ?

(1) 60 (2) 45

(3) 40 4) 30

qSH B TH U H oG S BR @
168 WM W @l 2| f9wm e B8R @
185 WM X 81 MU o & adf o
11§ @ W 3, X | § @ 8r
F AN TR WE W Bl 9 U F
fre Te® @S g E ?

(1) 41 (2) 42

(3) 48 4) 49
frfafed & @ H9-a1 o7 af 7 ?

(1) 1800 (2) 1900

(3) 1700 (4) 2000

fpell Widicd W # "go home" H "ta
na" HF ST "sweet home" FH "na ja"
%8l ST T "Sweet and Sour" & "pa sa
ja" e ST, A "Sour" FH HIS T BFM ?
(1) pa (2) sa
(3) padl sa (4) na

Level-2/4212
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72.

73.

74.

75.

76.

77.

[A]

If 3/5 of 60% of a Number is 36, then
the value of the number is :
(1) 60 (2) 100
3) 120 4) 150

If DRIVER = 12, PEDESTRIAN = 20,
ACCIDENT = 16, then CAR =?

1 3 2) 6
3) 8 4) 16

A and B together can do a work in 15
days, if B alone can do that work in 20
days. Then how many days will A take
to do same work alone ?

(1) 60 (2) 45

(3) 40 4) 30

Anil is standing at 16th position from
the left end in a row of boys. Vikas is at
18th position from the right end. Gopal
is 11th from Anil towards the right and
3rd from Vikas towards the right end.
How many boys are standing in this
row ?
(1) 41

(3) 48

(2) 42
4) 49

Which of the following is a leap year ?
(1) 1800 (2) 1900
(3) 1700 (4) 2000

In a certain code language "go home" is
written as "ta na", "sweet home" 1is
written as "na ja", "Sweet and Sour" is
written as "pa sa ja", then how "Sour" is
coded as ?

(1) pa
(3) paor sa

(2) sa
(4) na

P.T.O.



79.

80.

81.

(1) 10 Tt

) 12 feh

(3) 14 T

(4) 15 Tt

7 :20 e W o @ 9 g 4@ B
& o e e & T g ?

(1) 160° (2) 100°
(3) 260° 4) 120°

R T FF & IR W g8 ey
HIF-AT B 7

FYT :
(A) & T WS |
(B) 3B R @ ¥ |

s

(1) B W @ g
(2) FP TEN T T T
(3) FIE AT T T T
(4) FB T ™ 2|

Hie TR RTs ©

(1) Ui i & o
(2) Ufcerids #7ed & fow
(3) ™ 9@ & I & g
4) =l & forg

Level-2/4212

78.

79.

80.

81.

Two persons depart from their office
towards their houses. First person goes
8 Km in north direction and second
person goes 6 Km in East direction and
reach their houses, find out the direct
distance of their Houses ?

(1) 10 Km
(2) 12 Km
3) 14 Km
4) 15 Km

What will be the angle between minute
end and hour end in a Clock at 7 : 20 ?

(1) 160° (2) 100°
(3) 260° 4) 120°

Which is the correct conclusion based
on given statements ?

Statement :
(A) All leaves are roots.
(B) Some roots are branches.

Conclusion :

(1) Some leaves are branches.

(2) Some branches are not roots.
(3) No branch is leaf.

(4) Some roots are leaves.
Sohna town is famous for :
(1) Historical Lake

(2) Historical Palace

(3) Hot water Springs

(4) Gardens



[17] [A]

82. zRaPm # fha gsmEtE WHed (H“TI"T) 82. How many Administrative divisions are
g7 there in Haryana ?
(1) IR (1) Four
2) U= (2) Five
3 = 3) Six
4) qq (4) Seven
83. BRI & ™ 9 T 83. State animal of Haryana 1is :
(1) &1 971 (1) Black buck
(2) @ng E (2) Asiatic Lion
(3) i (3) Chinkara
(4) 9™ (4) Tiger
84. yam Rz ¥ ot & few @@ famie 84. Where Pratap Singh revolted against the
fepar o ? British ?
(1) Ve (1) Rohtak
(2) & (2) Jind
(3) ST (3) Ambala
(4) ferar (4) Sirsa
85. AIFH HAT "5[%\“3?{2{6 EI'ETV % ? 85. Where is the National Cancer Institute
situated ?
(1) Ham (1) Sampla
(2) #&w (2) Meham
(3) sEEn (3) Badsa
(4) FAER (4) Kalanaur

Level-2/4212 P.T.O.



[A]

86.

87.

88.

89.

90.

ghaen § ‘Y JErel-ae gerell i’
H S TGS BT © 7

(1) &g
(2) @l Hferp
(3) YT TAEdam
(4) |E Sedr

fore ST g@r Todl & |1y di @ 78
P & -

(1) gHud
(3) @

(2) Vedh
(4) qad

SIS I R | O R R 4 R
g SR R

(1) g
(3) wfest
AT H R, W U o &+
% foem 7ER

(1) ToamH
(2) A
(3) BIEER
4) R

TEIM e O 6 @ defd © 7

(2) T

(4) "AR®HST

(1) 3 =™
(2) romEd
(3) TR
(4) FUEE

[18]

86.

87.

88.

89.

90.

Who is the brand ambassador of 'Beti
Bachao-Beti Padhao
Haryana ?

Campaign' in

(1) Anu Kumari

(2) Sakshi Malik
(3) Kalpna Chawala
(4) Saina Nehwal

The district which does mnot share

boundary with other states is :

(1) Panipat (2) Rohtak

(3) Rewari (4) Palwal

The river, which makes border between

Haryana and Uttar Pradesh :

(I) Yamuna (2) Ganga

(3) Sahibi (4) Markanda

The city of Haryana, which is not part
of National Capital Region :

(1) Gurugram
(2) Sonipat
(3) Faridabad
(4) Hisar

Gurugram is related to which ancient
Guru ?

(1) Ved Vyas
(2) Dronacharya
(3) Parashuram

(4) Kripacharya

Level-2/4212
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[A]

AT - IV / PART - IV

Ao ST&T+ / SOCIAL STUDIES
3% : =i geal % g7 a7 % [ qae S A% g

Direction : Answer the following questions by selecting the most appropriate option.

91.

92.

93.

TG ¥ 3% @R & [958 offasa™

T

(1) TBEA g Togqer aqr § 99 fFa
ST Gl B |

(2) 9= dwadr ¥ 99 6 o 9hdr g |

(3) 9 Togger H U fRE S deedn

|
(4) e § fouer w1 g9 §97 &9 &
T Hha 2|

fr=1 arl B 99 9 ufeu ¢

I SRS T HY g & fEer of
I B IR T FT a9 Il G99 T
ey B |

II.39% U9 9 oW & 99
o e

(1) 19 F 11 Td &

() 17T g 1 98 &

(3) 19 II 3t o 8

4) 19 11 g+ &2 &

fFrefofed & gafea & qar qe e
T &2 & IWEN HA & @& S Al
T B

e L)

(A) TFE (i) et
(B) et (i) goa
(C) 98 U1 (i) 3SR
(D) fepferder (iv) ®MER
%c -

A B C D
) i i i v
Q)i i i v
G) i i i v
@) i i iv i

Level-2/4212

91.

92.

93.

In India the 'No-confidence' motion
against the central government :

(1) Can be presented either in Lok
Sabha or Rajya Sabha.

Can be presented only in the Lok
Sabha.

Can be presented only in the Rajya
Sabha.

Can be presented by the largest
party of the opposition in Lok Sabha.

2
3)
4

Read the following sentences carefully :

I. International Monetary Fund (IMF)
is one of the biggest moneylenders
for any country in the world.

IL. Its all the member states have equal
voting rights.

Choose the correct option :

(1) Iiscorrect and II is incorrect

(2) I isincorrect and II is correct

(3) BothIandII are incorrect

(4) BothIandII are correct

Match the following and select the
correct answer by using codes given

below :
Volcano Country

(A) Stramboli (i) Tanzania
(B) Cotapaxi (1) Italy
(C) Mt. Popa (i11) Equador
(D) Kilimanjaro (iv) Myanmar
Codes :

A B C D
(D i ii i iv
(2) i i i iv
3) i i i iv
4) i i v i

P.T.O.



[A]

94.

95.

96.

97.

98.

i 1 22 G 2 21 e R S
. 9Rd & H§95 & I dedr #
T q9H el g |
II. 3 PR 9RGE Gagw ¥ S=
Egﬁwmswa&ﬁﬂwaﬁ
|

el ey e
() I8 T T 8
) 19 a1 Tod &

(3) 19 II a4t 92 &
4) 19 II -t o 2

Rrfad & & B gat 78 % 7

(ORIEAND | femiore #Re

(1) @b - A
(2) U< — AR
(3) @EH — &l
) T - W
ga Y foaded ofide & oetd

?
(1) 1921 2) 1918
(3) 1919 4) 1920
55° Uf¥ErEl =R @M & Higd 2=
g

(1) 55° i AR

(2) 125° gdi 3R
(3) 125° UiYEHl ISMX
(4) 155° gdl IR

frfofag & @ S9-91 FRYGAE ©R
H T T B ?

(1) fssa &1 o)

(2) IR F; B

(3) TFHT U

(4) SO TF U8 H TBR

Level-2/4212

[20]

94.

95.

96.

97.

98.

Read the following sentences carefully :

I. The two Houses of Parliament of
India do not have the same powers.

II. It is because of this reason the
terminology "upper chamber" and
"lower chamber" is used in
Constitution of India.

Choose the correct option :

(1) IIis correct and I is incorrect
(2) Iiscorrect and II is incorrect
(3) BothIandII are correct

(4) BothIand]II are incorrect

Which one of the following is not
matched correctly ?

Landforms Forming Agents
(1) Cirques — Glaciers
(2) Peniplain — Rivers
(3) Loes — Wind
(4) Nunatak — Sea waves

In which year Khilafat Movement was
started ?
(1) 1921
(3) 1919

(2) 1918
4) 1920

The antipode meridian of 55° West
meridian is :

(1) 55° East longitude

(2) 125° East longitude

(3) 125° West longitude

(4) 155° East longitude

Which among the following is not an
example of Intermountane Plateaus ?

(1) Tibet Plateau

(2) Mexican Plateau

(3) Deccan Trap

(4) Plateau of Bolivia and Peru



100.

101.

102.

103.

(2) TTATEEE HE& &
(3) s‘Toﬂﬁj—szsmﬁam
(4) eI T @

Ay EN fofed g&a® & 9§
(1) T 9o Bigde

(2) T RaRe off% d@fet
(3) T Hied
(4) EET S A

S g, g qu S gesci Refy
¥ &, @ BHe-a1 |R A ?

() =R (2) IFF =R

3) fBF@ =R @) @ =R

anfdies &d SR foham S R
(1) T STERT &

(2) AR Gt 8 &}
(3) Mo dio MEo JWT

(4) fo 9™ 3

i et & @ B9-A1 TATE ?

(1) TH THEHR I B Foard
BT TET T 2 |

() THEHR ¥ TH FH IR TH I@N
T @i R Tt B 2

(3) a&g Fre wemiehrRIEs SRR @
fefareaar 21

) gieRtar 9 faseg @
gmﬁﬁﬁlﬁq?ﬁm%ﬂw
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[A]

99. Whose statement is this, "I shall strive
for a constitution which will release
India from all thralldom and patronage
............ . I shall work for an India in
which the poorest shall feel that it is
their country" ?

(1) B.R. Ambedkar

(2) Jawaharlal Nehru
(3) Dr. Rajendra Prasad
(4) Mahatma Gandhi

100. What is the name of the book written by
Montesquieu ?
(1) The Social Contract
(2) The Spirit of Laws
(3) Das Capital
(4) Treatise on Tolerance

101. When Earth, Sun and Moon are at
quadrature, which tides will occur ?
(1) Springtide (2) Diurnal tide
(3) Mixed tide (4) Neap tide

102. Economic survey is published by :
(1) Planning Commission
(2) Indian Statistical Institute
(3) RBI
(4) Ministry of Finance

103. Which of the following statement is
incorrect ?

(1) A monopolist may restrict the
output and rises the price.

(2) Under monopoly there is no
difference between a firm and an
industry.

(3) Product differentiation is peculiar
to monopolistic competition.

(4) Commodities offered for sale under
a perfect competition will be
heterogeneous.

P.T.O.



[A] [22]

104, @IS UE & HEATTH B & 7 104. Who was the founder of Swaraj Party ?
(1) Hlo #Ro M (1) C.R.Das
(2) dlo 3o ITeHT (2) B.R. Ambedkar
(3) o Tdo 7eH (3) I.L.Nehru
(4) THo Fo (4) M. K. Gandhi
105. 79 2 § @ 9w FAE  TAEER 105. From the following which country was
qoq MY & U9 gl 39T R ¢ the last to adopt the Universal Adult
(1) 9 Franchise ?
(2) SR ST (1) India
3) ‘\Tgalﬁ T e (2) South Africa
4) TR (3) United State of America
(4) Germany
106. St @I @ REL| S N e B 7 106. What is the difference between GNP
and GDP ?
(1) Excess of indirect taxes over
(1) TGEF T AT HU AR subsidies
(2) =™ (2) Depreciation
(3) T U W ST Bl SR (3) Excess of subsidies over indirect taxes
@) foeer & ur J& HIEgT HAH (4) Net factor income from abroad
107. S SNUE | fFE a¥ # ® & 107. In which year Nepoleon Bonaparte
THE & &9 | 7O el @t off ? crowned himself as emperor of France ?
(1) 1801 (2) 1802 (1) 1801 (2) 1802
(3) 1803 (4) 1804 (3) 1803 (4) 1804
108. IMEA TG 96 I fbd 9 & STMd 108. Production possibilities curve is also
g7 known as :
(1) deHdr dsh (1) Indifference Curve
(2) AT %6 (2) Demand Curve
(3) Yfi @k (3) Supply Curve
(4) Q=9 dsb (4) Transformation Curve

Level-2/4212



100.

110.

111.

112.

113.

=1 ®oe @ & | afeu ¢

I 9Rd & Y& Y@ AgH &
g Ra & Tl FXd < |

. &4 Y0 P Tgaiel & S
I B ¢ |

el faeheq T

(1) 13 1II 3+t 981 B
() 13 II 3t o &
(3) 188 g 11 Td §
@) 179d 9 11 @81 8

e Ao gt B -

(1) GaeERr sTderaer 9

(2) T srdemaen &

(3) AR T AT I srieaer |
(4) 9 | I TE

FFEX FIT & AN & H AR DA
oqr ?

(1) MREHR A

(2) FE-II

(3) TS HTH

(4) -1

BIaTT ISl TR & T &
m gy

(2) AT A G B

(3) WA

4) B TR TS

SR & SREAY BIX 9X SaX | gfro
F X ared B arel §A o

(2) FR
(4) S

(1) Sgaer™
(3) WS
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109.

110.

111.

112.

113.

[A]

Read the following statements carefully :

I. The Chief Election Commissioner
(CEC) is appointed by the President
of India.

II. The Chief Election Commissioner
(CEC) is answerable to the President.

Choose the correct option :

(1) BothIand II are correct
(2) BothI and II are incorrect
(3) Iis correct and II is incorrect

(4) Iisincorrect and II is correct

Economic planning is related to :

(1) Socialist Economy

(2) Mixed Economy

(3) Both Socialist and Mixed Economy
(4) None of these

Who was the Czar of Russia during
October Revolution ?

(1) Vladimir Lenin

(2) Nicholas-II

(3) Alexander Kerensky

(4) Nicholas-I

The founder of Hoa Hao Movement is :
(1) Huynh Phu So

(2) Aung San Suu Kyi

(3) Mao Zedong

(4) Faan Boi Chau

The
southernmost edge of Africa from
North towards South is :

(1) Agulhas
(3) Mozambique (4) Benguela

oceanic current flowing at

(2) Canarry

P.T.O.



[A]

114.

115.

116.

117.

118.

ame @ o 9 (LC.OR.) FME ?
0 Iait # gferE

S H gRaaq
M H gREaH
gt & g
o ¥ gREas
ST & gReds
S | aRaas
Ioft # ufe

IR & G99 9oic ¥, Qdeive SUhHl
T U A fhEs o o § °

2)

3)

“4)

(1) ST e

(2) frafom =1

(3) TofTar smfeerat

(4) T Tt

FuuHell (ENSO)’ ge-T Tweieed 8
(1) W 4

(2) JNR &

(3) uRasd |

(4) FREE A |

T AR T g8 R AR & R

() 3, 17578 (2) S, 1858 #
(3) JE, 1757 H(4) s, 1858 |

“ERY e TF O §MTH ARG A
e & G99 o ¢

(1) 99 fUser o oTRErr |

(2) YR Sfd ARET & GHOT |

(3) &l g |
(4) FHHEET A & AABR |

Level-2/4212
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114.

115.

116.

117.

118.

What is .C.O.R. ?
1) Change in Capital

Change in Production
Change in Income

2) : :
Change in Capital

Change in Income

3)

Change in Consumption
Change in Production

“4) ; ;
Change in Capital

In the Union Budget of India, profits
from public sector undertakings are
taken under :

(1) Fiscal deficit

(2) Planned expenditure

(3) Capital receipts

(4) Revenue receipts

'ENSO' event is associated with :
(1) Tourism

(2) Trade

(3) Transport

(4) Indian Monsoon

Rani Laxmibai was defeated and killed
in :

(1) June, 1757 (2) June, 1858
(3) July, 1757 (4) July, 1858

"Indira Sawhney and others Vs. Union
of India" case is related to :

(D
2)

OBC reservation

Abolition  of
scheduled caste

reservation  of

3)
“4)

Women protection

Rights of working women



119.

120.

121.

122.

123.

124.

125.

TR Fel g & 7

(D) PREE (2) IR &I H
(3) fer ¥ (4) 99 oI H
ETIIEd § ‘Bfel-edHEs’ W ®
(1) & 9 2) § &a

B WA (4) St A

WAl U9 § ARG B FH Y
g AR 3 TS & TS H AR
T o

(1) "&ia i

(2) T H

(3) g9 #

(4) drfees Ry @
‘THIRT $ A@F B & ?

(1) ifcErd (2) =ET

(3) SMTHIE (4) ks

JAME b Afpa e forg ™ & -
(1) e & 2) =+

G #FaE (@) T

TF SMIAHR AGUEad 7 9 & [
AT Sl Hud e B G B § 7

(1) e>1 ) e<l
(3) e=1 4) e=0
TEET B IAMN © ©

(1) I8 oFY FEMER

(2) IAO-UR=H G HEMER
(3) Rl B weE

(4) SR g HEEIR
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119.

120.

121.

122.

123.

124.

125.

[A]

Where Champaran is situated ?
(1) Gujarat (2) Uttar Pradesh
(3) Bihar (4) Madhya Pradesh

'Kennelly-Heaviside' layer in Ionosphere
is:

(1) D Layer
(3) F Layer

(2) E Layer
(4) G Layer

The basis of the creation of new states
by the first State Reorganisation
Commission  formed  after  the
Independence of India was :

(1) Culture

(2) Language

(3) Religion

(4) Geographical conditions

Who composed 'Harshacharita' ?
(1) Kalidas (2) Harishena
(3) Banbhatta (4) Ravikirti

Most of the inscription of Ashoka were

written in :
(1) Pali (2) Hindi
(3) Sanskrit (4) Prakrit

What is the value of price elasticity of
demand for the rectangular hyperbola
demand curve ?
(1) e>1
3) e=1

2) e<1
4) e=0
Typhoon originates at :

(1) North Atlantic Ocean

(2) North-West Pacific Ocean
(3) South Indian Ocean

(4) South Pacific Ocean

P.T.O.



[A]

126.

127.

128.

129.

130.

frefefe g4 3 3 e 7

A Haifys SaRd T
(W)
(1) s@ — o@H
2 & — uiReE s
(3) FH — FACH
4 W — diEeEg

qd ® ToMiaes aal S HEgar Te
A 8 :

(1) esafe

QHWEW

3)

(@%Wlﬁlﬁ

AU # Ay 2006 § I diedd dueE
AR B a9 USTHliceh Tose & M
qr -

(1) I SHEHA!
(2) B9
(3) 99 el T
(4) SHRBE BR 99
fFr=ifafa & | @i-a1 Sier gafad 787
g7

T T RASEY T8
(1) RreEgsy A
(2) YR NI CEY
(3) FEHEMR BLE
4) I3 arar

TART MR B q@H B T 7
(1) BRyw

(2) BEI

(3) w¥ads

(4) et
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126.

127.

128.

129.

130.

Which one of the following pairs is not
matched correctly ?

Crop Leading Producing
State (India)
(1) Tea —  Assam
(2) Jute —  West Bengal
(3) Coffee  — Karnataka
(4) Rubber - Tamil Nadu

In India, the political parties are given
'recognition’ by :

(1) The President

(2) Parliament

(3) Election Commission

(4) All Party Parliamentary Committee

What was the name of 'Political
Alliance' formed in Nepal in 2006 for
the support of democracy ?

(1) For democracy
(2) Hope
(3) Seven Party Alliance

(4) Democracy for Peace

Which one of the following pair is not
matched correctly ?

River Valley Projects River

(1) Shivasamudram Kaveri
(2) Pochampad Godavari
(3) Kakrapar Narmada
(4) Ukai Tapi

Who wrote Prayag Prashasti ?
(1) Harishena

(2) Kalhan

(3) Harshavardhana

(4) Kalidas



131.

132.

133.

134.

135.

“o| % offfieh Ao # e TER ©

(1) Sfys F¥mEe

(2) I TR

(3) wfeard il

(4) A= qETs e

qmETel A of

(1) HeBTET TSR

(2) Tt TetRAR

(3) R TTHA

(4) e TEHER

SO, 2011 & , qRA &
ECIC LI a T
TG AT HH B9 & ?

(1) sfmen < Rfrer < dotre

(2) BRATM < 59 T $HeHR < e

(3) eRET < R < 97 Td B
(4) BT < N < ffeRed

I3’ WF T A B

(1) $U @ 77 I Jg=i @t

2) FEAE HEF B

(3) foen Aew @

(4) GoET S &

=
el

ARA H IeM @ g e
fpee B ?

1) Rl (11297) R oTouRd
W= (17)

() Rt (9768) AR EUIRM
TR (171)

(3) TR (1122) 3R 9FMaTE (212)

(4) Rl (14444) R AT (22)
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131.

132.

133.

134.

135.

[A]

The fundamental base of "Sexual

division of labour" is :

(1) Biological structure
(2) Political conventions
(3) Stereotype beliefs

(4) Uncertain social roles

The mother of Shah Jahan was :
(1)
(2)
(3)
4)

As per Census 2011, what is the
correct, increasing order of three lowest
sex ratio States of India ?

(1) Haryana < Sikkim < Punjab

(2) Haryana < Jammu & Kashmir <
Sikkim

Haryana < Sikkim < Jammu &
Kashmir

Haryana < Punjab < Sikkim

Kachhwaha Princess

Sisodiya Princess
Rathore Princess
Chauhan Princess

3)
“4)

‘Bhur' Topography is a characteristic of :
(1) The upper and middle Ganga plains
(2) The Brahmaputra plains

(3) Tista Plain

(4) The Sundarban Delta

What is the highest and lowest

population density of India ?

(1) Delhi (11297) and Arunachal
Pradesh (17)

(2) Delhi (9768) and Arunachal
Pradesh (171)

(3) Maharashtra (1122) and Nagaland

212)

(4) Delhi (14444) and Nagaland (22)

P.T.O.



[A]

136.

137.

138.

139.

140.

141.

Tﬁtl'iﬂg?ﬁﬁ[:

(1) FIIEEH T At
) fewt & @t

(3) TeT Qral B

(4) AYEE ST Bl

frare-ca-fe & @@ ©
(1) ¥R gad

(2) g T

(3) ST-I&A!

(4) TR &99 Igadl

‘gD’ Bl O BN :
7,12,8,5,6,4,9,10,8,9,7,9,6,5,9
(1) 15 2 9

35 4 11

Frefoied & & SM-a1 T g& &l
fwar B ?

(1) ¥R

(2) FYX HHER

(3) gfeE

(4) fqar

R § ©Mg @aE e 7 9l

e T o

(1) AE SFggrea i & fom

(2) A wieamel & fg

(3) " ST S, STgEfRR STt
Td Afearel @ g

(4) g S, SEEIIGH
fegr sifa o Atearst & e

“ 7 % U® ged JHE9l geh
2

(1) ot R

(2) TSI & & faeame

(3) W ¥ wi

(4) 9gF @
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136.

137.

138.

139.

140.

141.

Raziya was the daughter of :
(1) Qutubuddin Aibak

(2) Khizr Khan

(3) Bahlol Lodi

(4) Shamsuddin Iltutmish

Who wrote Kitab-ul-Hind ?
(1) Amir Khusrow

(2) Abul Fazal

(3) Al-Biruni

(4) Amir Hasan Dehlvi

Calculate the 'Mode' :
7,12,8,5,6,4,9,10,8,9,7,9,6,5,9
(1) 15 2) 9

3) 5 @ 11

Which of the following is a subject of
concurrent list ?

(1) Communications
(2) Computer software
(3) Police

(4) Marriage

In India, seats are kept reserved in local
self governing bodies for :

ey
2
3)

only for scheduled castes
only for women

only for scheduled castes, schedule
tribes and women
“4)

scheduled castes, scheduled tribes,
other backward classes and women

The most powerful factor behind the
"Rights" is :

(1) Religious traditions

(2) Beliefs of political parties

(3) Recognition by society

(4) Emotional claims



142.

143.

144.

145.

-l & gE E e g S R
T g2 F ST A gL, F&l AL Bl

T BT
a1 El-1I

() ()
(A) A9 (i) PREUET qeC
(B) IWTHieEHE (i) TM-SEYA ST
IR
(C) IwrEpies e (iii) @R qer
T TATER ERICRIERRIERI
(D) o FESAT  (iv) SR He
ze -
A B C D
) i i iv i
) i i iv i
3) 1 v i i1l
@ 1 v m i

e qoa 78 W R ?

(1) qifq 9 e W @ |
(2) omfdfer SrEmmaret § & M H
3) wﬁmﬁﬁﬁﬁwﬁmﬁwﬁw

(4)§mﬁ1€5ﬁrﬁrw\aﬁﬁwﬁaﬂr@rﬁ

U IYHIRT HJe # Bl &, 9
SUARE & ¥ ¢

(1) A
(3) T

2) 99+
(4) e &

“FR T T 78 R
(1) Fdegen § Hivd @] 9
(2) JARS &) q
(3) X &R 9

(4) GHR & Tomias o 9
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142.

143.

144.

145.

[A]

Match List-I with List-II and select the
correct answer by using codes given
below :

List-1 List-11
(Forests) (Region)
(A) Mangrove (i) Coromandal Coast
(B) Tropical (ii)) Ganga-Brahmaputra
evergreen delta
(C) Tropical Dry (iii) Nilgiri and
evergreen Annamalai Hills
(D) Wet temperate (iv) Western Ghats
Codes :
A B C D
() i i iv i
2) i i iv i
3y i iv i iii
4 i iv i i

Find out the areas in which democratic
systems have not been very successful
in:
)
2)
3)

maintaining peace and order
reducing economic inequalities
maintaining dignity and freedom of
the citizens

maintaining accommodation  of
social diversity

“4)

A consumer is in equilibrium when
marginal utilities are :

(2) Equal

(4) Increasing

(1) Minimum
(3) Highest

"Trade Cycle" is not related to :
(1) Price level in economy

(2) Production level

(3) Employment level

(4) Political party in government

P.T.O.



[A]

146.

147.

148.

149.

150.

1 @1 e @I -

() TR SRR (2) oRe T
(i) regpe
(i) qreT
(iv) =

(b) ST
(¢) TR SR ToRA™
(d) aftrerrg

(1 (@) (¢) (i) (a) (iii) (b) (iv) (d)
(2) (@) (a) (i) (b) (iid) (c) (iv) (d)
(3) @ (b) (i) (¢) (iii) () (iv) (d)
4 (1) (d) (1) (b) (iii) (a) (iv) ()

Tgo THo MaW & fadg faw d=-
g7

(1) dMrg Iuafar &9 e

(2) 99 dMrg St |

(3) SUHFT H TIAT

4) uRedaeia rgurt # e

‘AT (feHTae SesT) ST S ©
(1) affE o1 & fow
(2) ag Fett % fag

(3) YA St F U
(4) AR SHoti & fow

HF-ar Srdemel SEiNar @ fafyr @

g 78 & °?
(1) e (2) A
(3) T (4) =gt

GT@OWOWO%WWTWWH
fepar ?

(1) 1945
(3) 1947

(2) 1946
(4) 1948

[30]

146.

147.

148.

149.

150.

Match the following :

(1) Gurjara
Pratihar

(a) Western Deccan

(i) Rashtrakutas (b) Bengal

(iii) Palas (c¢) Gujarat and Rajasthan

(iv) Cholas (d) Tamil Nadu
(1) (@) () (i) () (iii) (b) (iv) (d)
(2) (@) (a) (i) (b) (iii) (c) (iv) (d)
(3) () (b) (i1) (¢) (i) (a) (iv) (d)
4) (1) (d) (1) (b) (iii) (a) (iv) (c)

Which is the second rule of H. H.
Gossen ?

(1) Law of Diminishing Marginal Utility
(2) Law of Equi Marginal Utility

(3) Consumer surplus

(4) Law of variable proportions

'Manikaran' (Himachal
known for :

(1) Solar Energy

(2) Wind Energy

(3) Geothermal Energy

(4) Atomic Energy

Pradesh) is

Which economist is mnot related to
Indifference curve method ?

(1) Hicks (2) Pareto

(3) Allen (4) Marshall

When did the IMF start functioning ?

(1) 1945
(3) 1947

(2) 1946
4) 1948

Level-2/4212



OR & @
Ife T A SIET Wl Bl MR T & Al 3BT SR Tod
HHET ST |

6. Answers to questions in answer sheet are to be given by

darkening complete circle using Black ball point pen as

shown below :
O @ ® @

The answer will be treated wrong, if it is marked, as given below :

©OR &>

If you fill more than one circle it will be treated as a wrong
answer.

10.

11. U=

12.

13.

14.

15.

16.

17.
18.

19.

20.

. % B W—gﬁﬂrbl # 39 o & forg & E @relt SFE W & &Y | (Rough work should be done only in the space

provided in the Question Booklet for the same.)

. T IR Bad OMR TR U6 R 81 3ifdhd &Y | 30 IR &IHYdd 2Afhd T | IR g =g 29d Joidh (ABE Fogs) Bl

T g ® (The answers are to be recorded on the OMR Answer Sheet only. Mark your responses carefully. Whitener
(white fluid) is not allowed for changing answers.)

LTS T & forg Ry g aR et § 9 3fa fadwer & fw OMR STR 956 W &ad Ud gd @I & T Re Pl ard

wrge 9 9 T Th IR SR 3ifd BT B 971G I dGoll el off bl 8 | (Out of the four alternatives for each question,
only one circle for the most appropriate answer is to be darkened completely with Black Ball Point Pen on the OMR Answer
Sheet. The answer once marked is not allowed to be changed.)

el gHARad o 6 59 SR 45d B Hiel 9 WY Td I R BIg 3 M9 7 M | 3ngedi =1 gl SR U3d
# feiRa v @ srfaRad e=u 7 foRd | (The candidates should ensure that the Answer Sheet is not folded. Do not make
any stray marks on the Answer Sheet. Do not write your Roll No. anywhere else except in the specified space in the Answer
Sheet.)

—gRAPT T IR TS HT SAFYED JANT By, Fifd B aRRefT # (ge—gRaer wd SR w96 & wAie 3 e
B! RAT BT BredR) T YT YRAST T ST T8l HYATs WG | (Handle the Question Booklet and Answer Sheet with
care, as under no circumstances (except for discrepancy in Question Booklet and Answer Sheet Serial No.), another set of
Question Booklet will not be provided.)

THA—gRTHT /IR TFF H Y Y HHG BT el el WP A WINER dic H A | (The candidates should write the

correct Number as given in the Question Booklet/Answer Sheet in the Signature Chart.)

mﬁﬁﬁmm/¢aﬁmwaﬁ?ww$aﬁﬁmﬁﬂﬂwaﬁm—w gfad a1 gRfIRad HITST Bl
i, ISR, Hi9sd BIF, Soldci~ih sqmwmﬁﬂﬂmwaﬁﬂmﬁaﬁéﬁnﬁmwmﬁwﬁﬁél
(Candidates are not allowed to carry any textual material, printed or written, bits of papers, pager, mobile phone, electronic
device or any other material except the Admit Card and Identity Card inside the examination hall/room.)

TfId gRT 8 oM W YIS gl 3T gawr dre ([ o) 3R uga™ ux Wi | (Each candidate must show on
demand his/her Admit Card (Roll No.) and identity card to the Invigilator.)

P efetd AT Tded B A SH‘T% P 77 PIE el JmuFT I |7 B | (No candidate, without special permission of

the Superintendent or Invigilator, should leave his/her seat.)

HRIRT TAdETH BT AU IR UAB QU 1 v AR A€ R SEART BRAER [Py 97 angefi uden gfa 7€ v | Ay
el apell 1 A IR EWER A1 W BWER el by A1 g AMI SN {6 S99 IR U3d 8] dlerl & AR I8
JTfad | &1 AT AT STYT | OMR SR U3d § FuiRa o w | anafdial gmr 9 w19 & o &1 foeme
wrrmmélw@m%wﬁwwmmmwmﬁswﬁﬁwﬁﬁwﬁmmﬁwﬁaﬁ
qEAT 7A@ E|§T‘f AITTH §8d ®H | (The candidates should not leave the Examination Hall without handing over
their Answer Sheet to the Invigilator on duty and signing the Signature Chart twice. Cases where a candidate has not signed the
Signature Chart second time will be deemed not to have handed over the Answer Sheet and dealt with as an unfair means case.
All candidates have to affix left hand thumb impression on the OMR answer sheet at the place specified which should
be properly inked i.e. they should not be either over inked or dried in nature.)

golagid / gxcarferd URderd &1 SUANT afSid & | (Use of Electronic/Manual Calculator is prohibited.)
et Bt # MmeRvr & forg, apwneff fyarforast # & 13 ufhan / feen—fder g 98 & it el vd fftgst & Ry s < |
31‘3’%1?[ R e IOl e o ) B Re T IR IO ot R ol 1 o | AR 8FTT| (The candidates are governed by

Guidelines/Procedure given in the Information Bulletin, all Rules and Regulations of the Board with regard to their conduct in
the Examination Hall. All cases of unfair means will be dealt with as per Rules and Regulations of the Board.)

A BT H U DT 3R SR Y=Ib BT I 9T AT T BN | (No part of the Question Booklet and Answer Sheet shall
be detached under any circumstances.)

Wl T 8 W, gl Fe /B Bled W Yd SR UFG HE-UUdAS BT @A WU | gl o W s
W—W P o ST A& €| (On completion of the test, the candidate must hand over the Answer Sheet to the Invigilator
in the Room/Hall. The candidates are allowed to take away this Question Booklet with them.)
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